o0 A . . . .
—) /AN vier Dezimalstellen, Reihenfolge der Operationen
@ E Ea‘“ mit Klammern

Name: Datum: Ergebnis: __
5,8+5,7(6,5—6)= (4,8+5,2)x6,3—5,9=
5,1+5,92,9-5,7)= (4,6—5,9)x6,3+2,5=
2,6 —6(5,3+3,4)= 2,3+2,93,7+4,8)=
152,4+2,3)+3= 102,2+3,3)+2=
8+4+3,9)x4,1= 4-5,82,9+4,1)=
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vier Dezimalstellen, Reihenfolge der Operationen
mit Klammern

5,8 +5,7(6,5 — 6) = 8.65

5,1+5,92,9-57)=-1142

2,6 -6(5,3+3,4)=-49.6

15(2,4+2,3)+3=235

(8+4+3,9)x4,1=24.19

Datum: Ergebnis:

(4,8+5,2)x6,3—-5,9=757.1

(4,6 —-5,9)x6,3+2,5=-5.69

29 3+ 29 9(3, 7+ 4, 8) = 2695

102,2 +3,3)+2=275

4-5,802,9+4,1)= 366
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